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We'll do this by rearranging the series. (If you dont i will add vp 4o Int2)
Z: |+E'+é+

LIPS R X
27 a"nTiz*is

'
|- N-

a0

N

' | Since bolh diveraes
+13 ...+ aﬂ >2

¥ l—‘:"

oot

4] ~ 00D

Use the positive terms (in order) thot yov haven'+ vsed yet 4o get over 2 and
then e neaahve. 4erms Yo 5& below ("lather, rinse, repead”)
The Vor}iul Sums 39*- closer & closer o 2

-eve,ry wwme you use an even-l-erm “Zn yov'" be with f‘r'\ O‘F 2
So the limi} of par-hal sums will be Zo..

Note Jhat ing only finitely many terms dose nat chonge +he som.
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71 the Series diveges
ex: For which valves of x does ézx_»fs Converse?
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=[xl fim Znt$ m = XN fim 2+ 27 = x|l 20 =|x]
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so if Ixl<l,Jhe series Converges absoltu
it Ix1>1, dhe series diverges diwryes 7 cont2apsolotly 7 duverges
it Ixl= |, we have Ho resord Jo other tesds
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1F |X|=1, Wen X=-1 or %=1
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) The series alternates Sign becavse (-1)" cloes & an3 70
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X=1: then the series is f Znrz , Which divemes \) Jhe
since p=1-0=1<1
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